Applied Math II: Example Sheet 7
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Jiun-Huei Proty Wu

用 Laplace Transform 求以下各方程式的解
[image: image1.wmf](),  0.

ytt

³

。
1. 
[image: image2.wmf]42cos

yyt

¢¢

+=

, 
[image: image3.wmf](0)(0)0

yy

¢

==

. 
2. 
[image: image4.wmf](4)

1

y

=

, 
[image: image5.wmf](0)(0)(1)(1)0

yyyy

¢¢¢¢

====

.
3. 
[image: image6.wmf]5612

yyy

¢¢¢

++=

, 
[image: image7.wmf](0)0, (0)10

yy

¢

==

.
4. 
[image: image8.wmf]cos

t

yyyet

¢¢¢

-+=

, 
[image: image9.wmf](0)0, (0)1

yy

¢

==

.
5. 
[image: image10.wmf]0.0225()

yyyft

¢¢¢

++=

, 
[image: image11.wmf](0)(0)0

yy

¢

==

, 
[image: image12.wmf]5,(1)2(1/2)2

(),   

5,(1/2)22

ntn

ftnN

ntn

pp

pp

-<<-

ì

=Î

í

--<<

î

.
（解答較複雜，可用下式化簡：
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